NREEDITEE 2|NBM—E Packaged Items
TemBreak TemBreak @ TERASAK' FT, (678, - MARORIIC, LT ABLIOMONBBEESHATRE, REOMRZS
DO, RUZREROE UBRL OSBRI T, AETUE, R2ERHANT RE—% T2HSI6LS00 | TIMSIOX |  T2HS25L T2HS12 T2HS25 T2HS40 T2HS80 T2HSX6
NnNzIveI9bRX %[ AR [ AEEJELTRALTHIET, Packaged ltems
HEEBENY KV (AR BUR EB- 1358 (1S, BREKANERIA T, BT EAEGES DA, EE @ [#8fE/\> FJL Operating handle IP55 or IP65 * 1pc S00 St S1 or S01 82
= ShBHE, @ |1P65A/Y % > Gasket for IPG5  Tpe O — O
HR 3% 5t BA & (AR B £ B A1, BREKRAEIAT, PREDEEPEEERI STk 5 e R R S D o 5
Panel-Mounted HEANBIEA, ® | N> RV A S F§84R Drilling label :1pc
. S | o - 7 o ¢ HELAS D yECRL i ® or E © ) or ©
External Operating Handle s, [ A B ICEBLEBETS, WRICL - TRBALBRICEUOUBEPHIET, @ | #vE~#U Tapping screw Hor® © | Coro .
Instruction Manual WFhHbBEELRBETTOTATTF->T T, #5x16  (for Shaft Support) — O 2pcs (¥ 73> optional)
Be sure to read these Instructions and other associated documents accompanying the product ® | ¥+ 7 ¥ FKR— b Shaft Support O 1pc (#7232 optional)
thoroughly to be familiarize yourself with the product handling, safety information, and all other ® |/\> KJLAH/S— Handle cover 1pc — O
’Bﬁ (Types) precautions before mounting, using, servicing, or inspecting the product. In these Instructions, @ | >+ 7k Square shaft Tpc 15mm 18mm 1 14mm
safety notices are divided into " A Warning" and " A\ Caution" according to the hazard level: o = — : - T2HS16LS00 TTHST0X ToHS25L ToHS12 T2HS25 T2HS40 ToHS80 T2HSX6
T1HS10X T2HS16LS00 : A warning notice with this symbol indicates that neglecting the suggested procedure or {/ {T;fi;fé ;; Speratmg unit Tpc STELS S V5 12 Teat ‘ s ‘ S S P 168 TP s
T2HS25L T2HS12 practice could be fatal or result in serious personal injury. ® AT HEXA'#SOCKet Screw X se X se
T2HS25 T2HS40 : A caution notice with this symbol indicates that neglecting the suggested procedure or © |#®fF1=y FEUTIFRL | o1 | - - - - |- - - [ Mexi62set| - ] - -]
practice could result in moderate or slight personal injury and/or property damage. Mounting Screw for Operating unit -2 - M4 x 75 2set — — - M5 x 45 2pcs | M5x 95 2pcs | M6 x 110 4pes
T2HS80 T2HSX6 Note that failing to observe caution notices could result in serious injury / damage in same situations. M5 x 105 2pcs
Because safety notices contain important information, be sure to read and observe them. @ | EIREHABE Instruction Manual S 1pc O
Fig. T2HS40 A\ &k A\ Warning > 5 ” 5 .
- ZiE®E Operation P ti
A, HBWAROS5E— 52— MOt > 2 — CREEAICEAA NS W{2R.EQ M Operation Precautions _
R "o 1 @R B FEICHNENTTEN, REDEINAN HINET, E
ERHD SFBHTRIFT SRETT Never touch live terminals. Doing so may result in electric shock. |
This device allows the breaker installed in comparatively deep motor control center or @@D
switchboard to be operated manually without the need for opening the panel of the A FE A\ Caution
motor control center or switchboard. - N _
! WEI EOZER Installation Precautions
AHEEE BRI HOBE R TADICREL TTE, ABISER TR, e e o b1y qualfied persons & 1PS5: 05X13 - 2905
vzE_ A - sz - I = ) > . (B) IP65: 95X14  4pcs
RUBRIBUR ko CEUSIREIHL T St O REEALELL, OfE Tk, EAENHLEEEO (OFF) 1L, HBLTL AL ZEERIBL TT 0T TaL, e | ©pssiosxi2 2p0s
Please retain this manual for future reference.The Manufacturer assumes no BEDEINIHYET e = IP65‘ 0512 4pos
S . - . o =3 o © IP65:
responsibility for damages resulting from non-application or incorrect application of the Prior to commencing any work on the product, open an upstream circuit breaker or isolator to -
instructions provided herein. ensure that no voltage is applied to the product. Otherwise, electrical shock may result. s2 S1 S00 S01 © -1 )
. o O THD/ NIV OEEICIL, AMED/ZIOv7ERBICETLE2ZAE T, Ak
FlESERE AR\ TERASAKI ELECTRIC CO, LTD. DHTDINZIOEEIL, HBOBERELVET, D
T547-0002 6-13-47 Kamihigashi, Hiranoku, Osaka To remain the switchboard panel closed securely, use appropriate hardware in addition to the @ @h
KRB X ANSER6-13-47 547-0002, Japan panel lock of the handle. Using the panel lock only may result in damage to the switchboard panel.
s . . EuiREEAE (AE)
_ _ TEL +81-6-6791-2763 -EHJ:@(—EE Operation Precautions . ~ ’
TEL 0676791-2756 ' @i 5 B BIOINY 57 GEHT) L35 2, RSB THSNLKLE | (ON)IELTT 02 s Oocumnt)
FAX 06-6791-2732 FAX +81-6-6791-2732 v, KB (RHEETR) BERTL B8, EETSERRL TT 0V, KEDOBTANBIET )
https://www.terasaki.co.jp https://www.terasaki.co.jp When the breaker trips open automatically, remove the cause, then return the handle to the |(ON) m\w\\\\\\
kiki-info@terasaki.co.j int-sales@terasaki.co.jp position. Should a fault be interrupted, the breaker must be inspected. Otherwise, a fire may result. g
colp R @R(E/ T ICBALTEEMALV TV, BIEORAELVET, Fig. T2HS40
2G0981SAD (KRB-OGZOd) Do not apply excessive force to the operating knob. Otherwise, damage may occur.
3] EMEREEHR  Applicable Breaker Types 517V KIVERTT < EBERSBRF I AT EEE
PRSTT [ m—, The Handle Depth / The Mounting Direction Changing Procedure
Handle type | Applicable breaker type A [mm] B [mm]
T1HS10X E100-SF 182~460 A—102
~
T2HSTBLS00 S50-S[], S125-S[, E160-S[, S160-S[1, A160[] 175~453 A—100.5
T2HS25L E250-S[], S250-S[], A250[] 175~453 A—9%5
T2HS12 S50-GF, S100-J1, E125-[[1, S125-[1[1, ZAS100-[J], ZAS125-[],
NS100-NF, NS125-NF, ZS100-[1[], ZS125-[][], ZNS100-NF, ZNS125-NF, 175~453 A—95
ZS1250]
- & BYIRTEBIARASELEEEL TT S0,
T2HS25 $160-[1], E225-[[, §225-[1],E250-1[], $250-[[], ZAE225-[[], +Perform the anti-rust treatment to the metal section.
ZAE250-[1[], ZAS225-[[], ZAS250-[][], NE225-NF, NE250-NF, 175~453 A—95
NS225-NF, NS250-NF, ZE225-[1[], ZE250-[][], zS225-[1[], zS250-1[1,
ZNE225-NF, ZNE250-NF, ZNS225-NF, ZNS250-NF, ZS250[]
S225-GE, S225-PE, S250-NE, S250-GE, S250-PE J
H100-[J1, H125-CJ0, H160-[], H225-[1], H250-[J[], 210~488 A—130
L100-J, L125-J, L160-[107, L225-[11, L250-[1], B160[], B250[] ™
T2HS40 E400-[J, S400-[]01, ZAE400-[JC], ZAS400-[]C], NE400-NF, @ FREY, BESSEREMA I HRAISHIELAL v TNIDAH M EERT,
NS400-NF, ZE400-JJ, ZS400-C1], ZNE400-NF, ZNS400-NF, 220~456 A—134 BORAHET , , -
E630-NE, S630-CE, S630-GE, ZS400[] Referring to the table below, install the square shaft in the position matched
———————————————————————————————————————————————————————————————— to the change in breaker mounting direction.
H400-(JC], L400-C1C], B400C] 257~493 A—171 . ‘7\9 " uning clrect N
T2HS80 $630-CF, S630-NF, S630-RF, S630-ND, S630-NE, S630-RE, S630-GN, AYr7hIHAAIE Square shaft installation positions
$800-1J, $1000-(J, B80OL], B1000[] 220~456 A—134 ERHHAT ZEERBHER TROHET
ZAS630-[ ][], ZAS800-[1[], Zs630-[1[], ZS800-[][], ZS630[], ZS800L[] ¢ Upper power supply type Left power supply | Right power supply
H630-C107, L630-C 1], H800-L1J, L800-L 1] 257~493 | A—171 Fig. T2HS40 s type type
Tasxe  |swsoCCeisol [ 2765~5125] A—1%05_| iR
$1600-0J0J, B1600C] 296.5~5325 | A—210.5 direction
*1 1 O0=8[13kx<
}/4\ ‘/dlr‘)l/ﬁéit )
N b andle type - N
APEELDIR Assembly Tools B TrSToxX R i
T2HS16LS00 @ Square shaft
T2HS25L installation
T2HS12 28-35N - 2.8-35N - positions =
ToHS25 m m L (2 Default) )
T2HS40
@ oo @ o [:Y3) 14
TZHSX6 48-59N-m 48-59N-m




B3+ Mounting

cBITICHELZMOFMTEEAZ2OTESRLTT S,

« For detailed mounting dimensions, refer to the catalogue.

- BAFRE, RIENS RILEOFFICEDETT AL,

« Set the operating handle to OFF at installation.

cHB LEREREOBEERLET, Ah)ERERTEOEEIE, B
frTEAmAEEE LT, BN RILENSTIVER RS EEBETARR
B¥ETAM)IC90° [ElEE & ¥ REETEUF I % 97,

« The figure shows the upper power supply type. For the right (left)
power supply type, rotate all the components, excluding operating
handle and the panel, 90 degrees clockwise (counter- clockwise).

CBA I, BDYERICEET AL ARBL LS, IHEATIL,

« After mounting, verify the function of the device.

B LIS, EADERERE 0O (OFF) (CL, EERKZUGHIHEERS T
BLTVWEWSEEBRAL TUT-oTTFE W, BEDBRIWP S ET,
WA U IEEfT G DBEFIETITVET,

« Prior to removing, open an upstream circuit breaker or the like to
isolate all sources of power/ voltage. Doing so may result in electric
shock. When removing, remove the items in reverse order of mounting.

@T1HS10X, T2HS16LS00, T2HS25L
T2HS12, T2HS25

%

¥ BUD, JRETHET S,
g - The 'D' screw and the wire
= are not supplied.

@ T2HS16L, T2HS25L, T2HS12, T2HS25
@’ T1HS10X

@ 2yETRUERSIL,

NRIVF £y TE EIC
lEEET,

Remove the tapping screw, pull
up the handle cap to the top.

ABDIHE
For 4 Pole

@T2HS80

| (ON)side
oo g

o o :
O(OFF)side

M5

@ B4 LR LB
@ : Screws position for removal

¥ fUD, BIREZHET I,
B -The 'D' screw and the wire
= are not supplied.

@T2HSX6

1 (ON)side
aaa
R

J 11l

O(OFFside

M5

@ B L LB
@ : Screws position for removal

M4X75mm
1.7-2IN*m
M8X25mm
14.8-18.6N *m
M5X16mm
3.6-44N-m
M5X45mm
28-35N+m
M5X95mm
2.8-35N+m
M5X105mm
2.8-35N-m
M6X110mm
6.0-7.4N +m

{3+ Mounting

N RILAN—E9 LESE
Handle Cover Removing Procedure

| (ON) side
28mm

‘ 7mm
et %
kel
=
gl — - _
L o
o<
(o] {%} : {?} ¢ 31-37mm

|

AT R—N (AT T3Y)
Shaft support (optional)

P65/ Yy x 2 (AT a)
Gasket for IP65 (Optional)

INRIVRIRETO M) v 71R{E
TRIP Operation with the Panel Open
SERTERH ONDIRBETIE. 1> T —2—» [ON] RRLET,
+When the breaker is "ON", the indicator indicate "ON".

@T1HS10X, T2HS16LS00, T2HS25L

T2HS12, T2HS25

A2/ —4— (T2HS16L, T2HS25L)

Indicator

[on ][]

1(ON)

(TRIP)

T2HS16L, T2HS25L
T2HS12, T2HS25

e
ﬂh

) e e

SN

/

T1HS10X

$5X12mm | o ipss
2N+ m
w__ #5x12mm for IP65
2N +m
N ¢ 5X16mm for Shaft Support
2N - m

2G0981SAD (KRB-0620d) |

M)y TRE
Trip Button

(L Thr—5—
<T2HS1 2, T2H825>
T2HS40, T2HS80/ {

Ny TRES
Trip Button

| ON(F>)
O OFF (4+7)

ig8xaY 7L —XIC & HMER
Panel Opening Procedure by Panel Lock Release

EIAE3/7::E 3]

Panel Opening Procedure

*7F =7 OFF Open Type

iy Ky 784k
Handle Lock Operation

ERIEECHBT SV,
+Padlock is not supplied.

¢ 5mm- ¢ 8mm

e

c| ) RBTCRIVEBKLEN HBIBEDEETY, BE LD
BHET/INRIVERNTTEN,

*This applies when the panel requires to be opened while the
breaker is in the | (ON) position. See [9] for normal panel opening
procedure.

Max. X3

BERRE O VIRMEOFEFIETITVET,
*When unlocking, unlock the handle in

reverse order of lock.




